SET -1

2.

MODEL QUESTION

MRS

Subject- Economics qouifes : 100
aiftfe sexdifeste udiem—2021 Full Marks : 100

Intermediate

BT Ul &I FHI=AT

>

Total No. of Question 59 (@eTeT forder)

General Instructions

e Al Jer & At uee siferarst
All Questions in both groups are compulsory

e yod B JafY HON BT I&T TS & I U= &er aifav |
All parts of an answer must be written at one place.

® U FJAT 1 A 15 3R 31 A 45 dgfadmcdT ueaw (1 3iwt) 2
(Question number 1 to 15 and 31 to 45 multiple choice questions carrying 1 mark

® Uee JJAT 16 A 20 3T 46 A 50 Rad emedt @t gfef arer uest 1
3T 2
Question number 16 to 20 and 46 to 50 fill in the blanks type questions carrying 1
mark each.

® yoe FJT 21 A 25 3T 51 A 55 3ifd adg-STNT U 2 3T
g STed 3T 40 ot d faRaw
Question No. 21 to 25 and 51 to 55 are very short answer type questions carrying 2
marks each. Answers to these should not exceed 40 words each.

® U FJAT 26 A 28 3T 56 A 57 -3 T | Ued & forad udh
P 3 3ih B Seld A URADB bl 3cd2 150 ol H faRaw
Question No. 26 to 28 and 56 to 57 are short answer type questions carrying 4
marks each. Answers to these should not exceed 150 words each.

® U JFJAT 29 A 30 3T 58 A 59 Id IcadT ved & forardt uds
P 5 3k B Seld A URADB bl 3cd2 250 2ol H faRaw
Question No. 29 to 30 and 58 to 59 are Long answer type questions carrying 5
marks each. Answers to these should not exceed 250 words each.

Gug—A (aafte srefem &1 uR=9A) Introductory Microeconomics) 52 Marks
ggfabed 9o (1 3(®1™a) Multiple choice Questions (1 Marks)

frr=ferRaa uyoa ¥ 9 92 fAdeu &1 999 Y 1x15=15

Choose correct options in the following questions.
3THAT AT BT dbicds ITH %—

The alternative name of opportunity cost is -
(A) 3Ta oTera Average Cost (B) &frsTichel &ITOTA Accounting cost

(C) sxaiazor oiora Transfer cost (D) dAifgas oot Monetary Cost
forder & A ATor B yaTidad I dTeAT B dblel AT & ?
Which of the following affects demand?

(A) 3IdTEel P ddbellh (B) ATerer @ BIAA Price of
Technology of production Factor

(©) IuaATeAT G} 3 (D) 3Iaresr @t &rerd Cost of
Consumer’s Income production



10.

11.

IUNTITAT @Y ATT Pt sbrs &— The unit of measurement of Utility is-

(A) fmetramar Kilogram (B) wftex Litre

(C) afieT Meter (D) Jfee Utils
golc @t @led &rdl &— The slope of a budget line is-

(A) >rUTTcH® Negative (B) ercitedes Positive
©) o= Zero (D) a1eia Infinite

fFT UbR &t avg @t HAfer IFBT BHAad H ghg A Tt &2
The demand for which type of goods increases by increasing its price?
(A) sfraeares axg Necessary Goods (B) faenfRaar a=g Luxury Goods
(C©) Silaer gt axg Life saving (D) Brftser a=g Giffin goods

oods
%ﬁﬁga@ﬁmwﬁmsﬁﬁzﬁwﬁﬁq&gaﬂéw
3dEe old 3 &l arell gfeg i a=—IT HaT SIaT & ?

The increment in Total cost of production due to an additional increment in the
production quantity of a product is said to be-

(A) egeT eirord Total cost (B) 3PAa retad Average cost

(©) fHATa oIora Marginal cost (D) 3raaAzT crord Opportunity cost
SredbIellel 3cUT3el Welel bl &lTH 8-

The name of Long run production Function is-

(A) 3IU=Nf3rar Wwaoter Utility function  (B) Aterer @1 uferser  Returns to a
factor

(C) TaAT BT UfdwaT Returns toscale (D) &Tord Weder  Cost function
Uh 3deshs 10 Racer ol e & 5 Huy ufa Raea &t a3 I
JTar & ar IFBT FoT AT =i goft ?

A producer sells 10 toys at the rate of Rs. 5 per toy in a market. What is his Total Revenue?
(A) 15 HuA Rs. 15 B) 5 H»uA Rs.5

(© 50 HuA Rs. 50 D) 2 HUI Rs.2

ot uferenfrar aom & waf o Jz=m St 3-

The number of firms in perfect competitive market is-

(A) 1 B) o

(©) 10 A @A less than 10 (D) w@ga s1f&ras Very large
UGB garRr 3difed a3g &t dAfor ardy 3-

The demand for a goods produced by a monopolist is-

(A) goufaem argere Perfectly elastic  (B) &g Elastic

(©) Aefraerz Inelastic (D) goic=n Jefraare

Perfectly inelastic
Sops AR & rFAR IuNRPrar & ATT It THIE B 9
According to Marshal, the unit of measurement of utility is-

(A) fsatramar Kilogram (B) afrez Meter
(©) Har Money D) e Utils
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12.

13.

14.

15.

16.

17.

18.

19.

20.

forder & A A ab BT 3MbR 3cel U 3BT &b s8idar 8 ?
Which of the following is inverted U shape?
(A) AFATG  Iu=NBrar  Marginal B) 3Frma@  oIorad Average  cost

Utility Curve curve
(©) AFATG oIera Marginal cost (D) IfrdATad Iaure Marginal product
curve

hid SITAA Icdles Wwalel Q=ALk? H VAT BT ufdmbar 6 AT B-
The Returns to scale in Cobb-Douglas Production function Q=AL"k” is measured by
A a+p B) a-p
©) axp D) alp
It Rt a=g @t @Afor as Q=10-5P & a a=g & FHtHAdT 2 Hud
Uty ShIs UT dexg HI HAfor =T BIOf ?
If the demand curve for a goods Q=10 — 5P, What will be the quantity demanded of

the goods at the price Rs. 2/- unit?
(A) 10 B) 5

© o D) 2

CUHIITBR #H a3g & diAd (P) 3R A aerag (MC) H w=im dAdeg
grar & ?
What is the relationship between price of a goods (P) and marginal cost (MC)

monopoly?

(A P=MC (B) P-MC=0

© P>MC D) P<MC

Raa zemett @5t yfef @ifste 1 Fill in the blanks 1x5=05

.................. S 37t I &7 b1 fIsiar war 21

.............. defines Economics as the “Science of wealth.”

ITNRPBEr & ... H HUT ST AbdT B |

Utility can be measured in ..................

Rl a=g &t Hfor 3R IusiiarAT &F 3mT H ... Jde AT g1
Thereis ........... relationship between demand for a goods and consumer’s income
SId 3dlGel & ATl H 5% Bl Jieg &l A 3G H 5% Pt Jieg
Bldl & ar 23 AT BT e Ut haT ST |

The returns to the scale is said to be ............... , 1f there 1s 5% increment in the

production due to increasing in factors of productions by 5%

a1 fafdresr ammeept A TRt avg & 3TcTor-31cToT dHIAd aieiel &I s
................. HEATdr B |

The process of charging different price of a goods from two different customers is
called ................

aifcr g 393 uea Very Short answer type questions 2x5=10
ferder uoell & 3Icaz fARaw | Answer to these questions.



21 sSdazen & Al Uk Bkl JAHAIIT Bl SATHAT BISIT |
Explain any one of the central problems of the economy?

22 HfeT A 3T =T AHAST & ? What do you understand by demand?

23 it @=m 227 yid & forugs @ faRaw
What is Supply? State the law of supply.

24 3IdIGs Wt obf gieimaTr faiRaw | Define production function.

25 TP dI6IR AJcelel ot 37ael A &wd &idr & ?
When is a market in Equilibrium?
g 3T weal Short Answer Type questions 4x3=12
feTdst Uoell & 3Iad¥ & | Answer to these questions.

26 3Ie=Al ao B [heal fAAUAT3ti & === WHISv |
Explain the characteristics of an indifference curve.

27 IAHATT Ided 3N INAT Idled A JAde bl IJRIT A AHSSU |

Explain the relationship between Marginal production and average production with the

help of a suitable graph.
28 U Yuiufadehl areme @t fadwarsi o faRau |

Write down the characteristics of perfect competitive market.

&ef 391 uesT Long Answer Type Questions 5x2=10
feTdet Uoell & 3Iad¥ & | Answer to these questions.

29 TRt avg @1 HAfor BN UHITIA Il dlal BRI bl SITBAT BIfSIU |

Explain the factors affecting demand for a commodity.

srerar (OR)
uRadaefiat srgurad & for=rer & faRee s s3a@st e Ssifsioe |

State and Explain Law of variable proportion.
30. 3cUlesl oeld A 31U =T JAHASd & ?
(a) What do you understand by production cost.

(b) 3NAT rorad 3NT AT dAOrd A JAdgT B AT BITSIT |

Explain the relationship between average cost and marginal cost.

3rerar (OR)
feroafaRaa arfciasr A HATOT BT BIAT ol bl I0TAT BITSIT |
aIg BI BiAd (Price of goods) | axg T HAfor A (Quantity demanded)

5 20

4 30

(91



@us—2 (Wufie efemres &1 uk=A) Introductory Macroeconomics) 48 Marks

Jgfabedia gg= (1 3i®ra) Multiple choice Questions (1 Marks)

31.

32.

33.

34.

35.

36.

37.

38.

fr=tferfaa gl o 9 |2 faded &1 9997 R 1x15=15
Choose correct options in the following questions.
frea @Y HAgTer FHE A ad gg off ?

In which year the great depression of the world occurred ?
(A) 1914 B) 1929

) 1939 (D) 1945

froaiaiRaa & I pY I<k=r 3= &t orotenr A Afdwfera @t e
SiTar & 9

Which of the following is not included in the calculation of National Income?
(A) FHGIgEr Wages (B) erar Profits

(C) &3diaor ggararel Transfer payments (D) &forrer Rent

JATH dvcT Aufed B ATem Simar B9
Which of the following is considered as the most liquid asset?

(A) st Land B) AT Gold

(C) gaTr Cash Money D) JFv #F J@afer sTAT Time deposit with banks
aANRIG Jb w1 Brd T8t B-

Which of the following is not the function of a commercial bank?

(A) SHAT BT BT (B) AH BT TeraAtor
Accept deposit Credit creation
(C) wole BT BTt As a agent (D) a1 forefarar Issuing money
MPC + MPS =?
(A) o B) 1
(©) 1 A 3i1fe&res more than 1 D) 1 A PHH Less than 1

ofe MPS @I AT 0.2 &, Al YU BT AT =T &IOI ?
If the value of MPS is 0.2, What will be the value of multiplier ?

(A) 5 (B) 0.2

€ 1.25 M) o

IAIBR B Yollord 3T B Jd -

Which of the following is the source of capital receipt of a government?

(A) sgoT T Gt Recovery of (B) faferaer ¥ ured 3m=r Income

laon through
© @z Tax (D) sror Debt

HRT A e ad &5t 3rafer o=m arar 2 92

What is the period of Financial year in India ?
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39.

40.

41.

42.

43.

44,

45.

(A) 1 Sladdgdr A 31 AT B) 1 3UA A 31 HAE

1 January to 31 December 1 April to 31 March
© 1 #Z A 30 3IUA D) 1 AT A 28 WIS
1 May to 30 April 1 March to 28 February

IR JAgclel STd del bl JA aidl a-

What is the formula of calculating Trade balance?

(A)  smema+fer=ria Import+Export (B)  3m=mma—fer=ria Import-Export

©) ferarfa—am=ama Export-Import (D) ferarfa*3mema Export*Import

Uk 29T & AU Adoled & diel, JTdT A o= AfdFATra =&t aar 2 2

Which is not included in current account of BOT of a country?
(A) a3g BT 3mId Import of (B) faaeft forder ¥ 3mr Income

goods from Foreign
(©) a=g 1 for=ia Exports of (D) faaeft 3®or Foreign Debt
goods

‘The General Theory of Employment, Interest and Money’ siTH®G g & oIS
Pt & ?
The writer of the book ‘The General Theory of Employment, Interest and

Money’ 1S .............
(A) wsa Rer Adam Smith (B) 31cws ATteT Alfred Marshal
(©) SToudaOB=A J.M. Keynes (D) srodto = J.B. Say

oreafeRag & A Prar IcEAT 3T B orurer @ fafer & B e
Which of the following is not the method of calculation of National Income?

(A) Iare fater Product Method (B) 3mer fater Income Method
(O) ufcrera Tafer Percentage Method (D) ==r fafér Expenditure Method
fofeet H A BT B HST BT BT d8F & 2

Which of the following is not the function of Money?

(A) e BT ATIS Measurement (B) faferarr @1 Jregrer Medium of
of value Exchange

(C) Z=IfSTa ofoTdrel Bl ATelel (D) @StHAT Rer=ar Price stability
Medium of deferred payment

RT H HaT TorofdAe BT BrRf BT Har & 2

Who does the work of currency issuance in India ?

(A) Jdear Tb 3MTH sSf3AT B) sdAr e Fb  State Bank

Central Bank of India of India
©) aRdr RBoid Tk Reserve (D) Tep 31T Sfe=m Bank of India
Bank of India

IotprdRr Sfifar & 3for 8a &-
Which of the following is the part of fiscal policy.

(A) @2 =fifT Tax policy (B) T T <fifar Bank Rate policy
©) Jgeft d@rer =itffar Open (D) 3mRféta@ argura Policy related
market policy to change



46.

47.

48.

49.

50.

51.
52.
53.
54.

55.

56.

57.

58.

Rerq zemat &t gfdf Hifste 1 Fill in the blanks 1x5=05
areferazen &1 uiRaies &b ............ Fdafera ferofer @wsar 2

Household of an Economy takes the decision related to ...........
d TXgu S Rl avg B Idea H b= AT P HU A UIAd aldl
F- HaaTdl & ?

The goods which are used as raw material in the production of goods are called .......

feraer forafa &l 3mr &1 o 31 Wold 2|

Net Exportisthe ............... function of Domestic Income.

HaT TAR U= fo—i=or &1 &b . HAT B

................... controls the money expansion.

JIBIRT BT Folc bl =l Bl dole Bal ofldl & oid AR BF 3T

FHABT o A FA B B

Government budget is said to be Budget deficit when its income is less than ..........

3ifer &g 39T weal Very Short answer type questions 2x5=10
foraet uesli @ 3Iadz T1Raw | Answer to these questions.

i A el Star & ? 31830 SIfST | What is stock? Give example.
TATE 3refer=r A =T dreg=dt @ ? What is meant by Macroeconomics?

AT dfeg @I & ? What is value added? Give an Example.

avg fafergar uomelt A = wieemsar &t off ?

What were the difficulties with the Barther system?

8JoTdTel JAgolel ol & ? SAB fafdest wmal B o faRaw

What is balance of payment? Name its different Accounts.

g 3T3AT weat Short answer type questions : 4x2=08
feTdet uosll & 3IcdT & | Answer to the questions -

srefeaa=e #H 3T P ddol ohbid Udle & &I 5T HIsel &bl ATAT
HIfSTE |

Explain Two sectors model of circular flow of Income in an economy.

HaT B BT B @R wifeie 1 Explain the functions of Money.

&l 33 uear Long Answer type questions : 5x2=10
foTdet "eall & 3z S|

Iare fafer I et 291 B ITdar =l 3aaTe (GDP) @bF 9101 BHA bt
SITdl & ? 3e1e3or Afea === FHifsie |

How is GDP of a country is calculated by product method? Explain with example.

3rerar (OR)

afe =t srefegazemr & 3usiior water C =50 + 0.5Y 8 a1 =a=wa =g
#H 50 FRe HUA Bl ghg B UT JAdoldl foold U USH dlal UHATE
I TRET BT |

If the consumption function in an Economy is C=50+0.5Y, Explain the effect of
increment in autonomous expenditure by Rs. 50 crore on Equilibrium output.

7
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59. oot @@m B2 Ws MPC ¥ fpd Uk ddfeid &2 3<Eeor AfeEq
=T HITSIT |

What is multiplier? How is it related with MPC? Explain with example.
arerar (OR)

feTaaatoaiRad 37T A AT Sold U Adbdl g¢f, 3adia3sl (GDPgc) ast
IUTEAT HITSIT |
Calculate the GDP at factor cost from following data.

HA< Items ST @@= HuA H)
Amount ( in Lakh Rupees)

farept Sell 700

FFefiet @1 @ Purchasing of Machine 100

Ielap A uf¥ader Change in stock (-) 30

b HATA BT b Purchasing of Raw materials 400
31uAcqT b2 Indirect Tax 60
AsT=Idt  (3uerel) Subsidy 50




